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(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 5.67 70.84 | NS | 000 ~ 0.00| 1.67 7.91 st 1.00 | 6.00 ~ 6.90 70.84 | TNLSY | 6,00 ~ 6.90| 1.67 7.91
2 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 7.35 93.70 | =hLs | 000 ~ 000 1.73 8756 st 1.00 | 5.00 ~ 9.50 93.70 | =nS | 5.00 ~ 950 1.73 8.75
3 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m%#8% % - -~ - -|3mEBZD -~
zhst - -~ - -| Fhust -~ - - - Fhst - -~ - -l En s -~
4 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
zhst - -~ - -| st -~ - - - Fhst - -~ - -l En s -~
5 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
zhst - -~ - -| Fhust -~ - - - Fhst - -~ - -l En s -~
P 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ b5.54 69.14 | FnLSY | 000 ~ 554 | 1.91 9.68 st 1.00 | 6.00 ~ 6.50 69.14 | =hst | 6.00 ~ 6.50| 1.91 9.68
- 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 5.10 63.61 | FnLSY | 000 ~ 510 1.84 932 st 1.00 | 6.00 ~ 5.60 63.61 | Ths | 5,00 ~ 56.60| 1.84 9.32
P 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 5.69 71.14 | S | 000 ~ 569 1.85 9.35 st 1.00 | 6.00 ~ 6.50 71.14 | ThSY | .00 ~ 6.50| 1.85 9.35
9 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 7.35 93.78 | =hLs | 000 ~ 0.00) 1.66 841 st 1.00 | 6.00 ~ 9.80 93.78 | =nS | 5.00 ~ 9.80| 1.66 841
10 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -] 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 6.18 77.55 | ThSY | 000 ~ 000 | 1.63 8.26 st 1.00 | 6.00 ~ 740 77.55 | TNLSY | .00 ~ 7.40| 1.63 8.26
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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